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Consider the quarterly data set from 1950 to 2000 reported in 070707.xls where
· Year = Date 

· Qtr = Quarter 

· Realgdp = Real GDP ($bil) 

· Realcons = Real consumption expenditures 

· Realinvs = Real investment by private sector 

· Realgovt = Real government expenditures 

· Realdpi = Real disposable personal income 

· CPI_U = Consumer price index 

· M1 = Nominal money stock 

· Tbilrate = Quarterly average of month end 90 day t bill rate 

· Unemp = Unemployment rate 

· Pop = Population, mil. interpolate of year end figures using constant growth rate per quarter 

· Infl = Rate of inflation (first observation is missing) 

· Realint = Ex post real interest rate = Tbilrate - Infl. (First observation missing) 
1. Estimate the following model 

ct = α0 + α1 yt + α2 ct-1+ε1t
with OLS do you see any problem?

2. Consider that ct-1 is as exogenous, then estimate the with IV

a. Use government spending as instrument (along with constant and ct-1)
ct = α0 + α1 yt + α2 ct-1+εt
b. Estimate the following model

ct = (0 + (1 gt + (2 ct-1+εt with OLS and compare their R2s?  Interpret this.
3. Estimate the following model with IV where rt yt are endogenous 

it = β0 + β1 rt + β2yt +β3yt-1+ε2t
a. If government spending is the instrument (along with constant and yt-1).  Do you see any problem?  Interpret.
b. Repeat the exercise with additional instruments of M1 and population.  What do you see? 

c. Are rt and yt endogenous? Perform the Hausmann Test.

